

IIT AIIMS 2027

TWO YEAR INTEGRATED PLUS TWO PROGRAMME

SCREENING CUM SCHOLARSHIP TEST

ELIGIBILITY: STUDENTS STUDYING IN CLASS 10

MINIMUM SCHOLARSHIP GUARANTEED

We assure 10% discount in the course fee to every student who are included in the merit list prepared based on the screening test / promotion test.



29 SEPTEMBER 2024

MODE OF SCREENING TEST

TARGET:

IIT, NIT, IISC, IIST, IISER, KERALA ENGG., AIIMS, JIPMER, NEFT 1ST PRIZE-10 LAKHS 2ND PRIZE-5 LAKHS 3RD PRIZE-4 LAKHS 4TH& 5TH - 3 LAKHS

OFFLINE TEST CENTERS

Selected venues in all districts in Kerala, Bengaluru & Dubai

INTRODUCTION

Brilliant Study Centre proudly announces two year integrated programmes in Medical and Engineering stream - for those who are studying in Class X during the academic year 2024-25 and are eager to become super-achievers.

AIIMS & NEET BATCHES: These batches are intended for students who wish to appear for NEET which enables them to secure admission in various medical colleges in India including AIIMS, AFMC, JIPMER etc. Even though this programme enable students to get admission in the aforementioned institutions, our prime objective is nothing but AIIMS.

IIT (JEE ADVANCED) BATCH: It is a target-cum-foundation course for students who wish to pursue studies in IIT/NIT/ IISER / IIST / BITS & other national institutes of excellence. It also gives weightage to state level examinations. Even though these programmes enable the students to excel in all the above entrance tests, our prime objective is nothing but IIT.

BATCH DESCRIPTION: There are Different type of coaching programmes namely Regular batch & Hybrid batch, Evening Batches & Online batch for IIT/AIIMS programme.

IIT/AIIMS-2027 REGULAR BATCH

We have INTEGRATED TWO YEAR regular Batches in CBSE, Kerala State Board & ISC Syllabi

Entrance classes and theory classes are simultaneously handled by experts of Brilliant is the special feature of regular batches

- Integrated two year +2 programme
- Entrance classes are handled by Brilliant Study Centre, classes (Physics, Chemistry, Mathematics / Biology) are handled by respective institution and Brilliant Study Centre.
- Eligibility: Class-X students of academic year 2024-25 who expects high marks/grade in the Board Exam.

Selection: Based on screening test.

- Classes commence in the month of April 2025
- Class days: Monday to Saturday
- Medium of Teaching-Combination of English & Malayalam
- Normally Sunday will be holiday, but if required, classes
- may be conducted on selected Sundays as well. No extra tuition is required for the students in these
- batches.
- Class Centres: Changanassery, Ernakulam, Ettumanoor, Kanjirappally, Kattachira, Kollam, Koothattukulam,
- Kottayam (Mannanam), Kozhikode, Malappuram, Pala,

Pallickathodu, Pattambi, Perumbayoor, Thamarassery, Thrissur, Muvattupuzha (Vazhakulam) & Trivandrum

■ To secure admission in schools near by our centers, follow all the admission procedure (screening test if any) of the respective school

FEE STRUCTURE

REGULAR BATCHES Course Fee with Minimum Scholarship 10% = ₹2,25,000 + GST

[Course Fee (₹2,50,000+GST) - 10% Fees Discount (₹25,000)]

Ist Year: ₹1.35.000/- + GST [(₹1,50,000 + GST) - 10% Fee Discount (₹15,000)]

IInd Year: ₹90.000/- + GST

[(₹1,00,000 + GST) - 10% Fee Discount (₹10,000)]

We assure a minimum discount of ₹ 25,000 of the fee to every student who gained selection to IIT/AIIMS regular batch.

2. EVENING BATCH

The classroom coaching will be conducted in our centres during evenings.

- Students of any stream (CBSE / ICSE / STATE) can take admission to these batches.
- Entrance classes are handled by Brilliant Study Centre, Pala
- Offline Classes: Monday to Friday (Evening 2.5 3.5 Hrs. Classes) selected Sundays, selected Saturdays, Public holidays & vacations (8.30 am to 5.00 pm).
 - Eligibility: Class-X Completed
 - Classroom Centers: Trivandrum&Ernakulam&THRISSUR
 - Medium of Teaching: Combination of English & Malayalam
 - Selection: Based on screening test

FEE STRUCTURE

Course Fee with Minimum Scholarship 10% = ₹144000 + GST [Course Fee (₹160000+GST) - 10% Fees Discount (₹16000)]

Ist Year: ₹86400/- + GST [(₹ 96000 + GST) - 10% Fee Discount (₹ 9600)]

IInd Year: ₹57600/- + GST

[(₹ 64000 + GST) - 10% Fee Discount (₹ 6400)]

We assure a minimum discount of ₹ 16000 of the fee to every student who are selected to IIT/AIIMS week-end batch.

3. IIT/AIIMS-2027 HYBRID BATCH (OFFLINE) A) CLASS ROOM COACHING (ONLINE+CLASS ROOM)

This is a combination of class room and online coaching. The classroom coaching will be conducted at our centres.

- Students of any stream (CBSE/ICSE/STATE) can take admission to these batches.
- Entrance classes are handled by Brilliant Study Centre, Pala
- Offline Classes will be conducted on all Sundays, selected Saturdays, public holidays and vacations.
- Online classes 2-8 hrs per week.
- Eligibility: Class-X students of academic year 2024-25 and expect high marks/grade in the Board Exam.
- Classroom Batch Centers: Thiruvananthapuram, Thrissur, Ernakulam, Pala, Changanassery, Kollam & Kozhikode
- Medium of Teaching: Combination of English & Malayalam
- Selection: Based on screening test.
- Classes commence in the month of April 2025

HYBRID FEE STRUCTURE

Course Fee with Minimum
Scholarship 10% = ₹182700 + GST
[Course Fee (₹203000+GST) - 10% Fees Discount (₹20300)]

Ist Year: ₹109620/- + GST

[(₹ 121800 + GST) - 10% Fee Discount (₹ 12180)]

IInd Year: ₹73080/- + GST

[(₹81200 + GST) - 10% Fee Discount (₹8120)]

We assure a minimum discount of ₹ 20300/- of the fee to every student selected to IIT/AIIMS batch.

B) ONLINE COACHING (ONLINE ONLY)

Those students who are not able to join our class room coaching & studying in schools anywhere in the globe can join the online course. The entire coaching is through online only.

- 12-14 hrs class in a week, besides more classes during vacations
- Periodic test papers and model exams.
- Live & Recorded classes.
- Online & offline doubt clearing mechanism.
- Every batch is under the direct supervision of a class teacher & group coordinator.
- Periodic interaction with parents for evaluation & feed back
- Medium of Teaching: Combination of English & Malayalam
- Motivation and career guidance sessions.
- Proper guidance and feed back through social media.

FEE STRUCTURE

Course Fee with Minimum Scholarship 10% = ₹117000 + GST [Course Fee (₹130000+GST) - 10% Fees Discount (₹13000)]

Ist Year: ₹70200/- + GST

[(₹ 78000 + GST) - 10% Fee Discount (₹ 7800)]

IInd Year: ₹46800/- + GST

[(₹ 52000 + GST) - 10% Fee Discount (₹ 5200)]

We assure a minimum discount of 10% of the fee to every student selected to IIT/AIIMS online batch through offline test.

SCREENING TEST SYLLABUS

THE SCREENING TEST IS BASED ON PHYSICS, CHEMISTRY & MATHEMATICS

- Physics: Units & Measurements, Motion, Laws of motion, Force, Pressure, Energy, Gravitation, Work, Energy & Power, Sound, Heat, Light, Electricity, Electric Circuits, Resistance & Ohms Law, Household Circuits, Electro Magnetic Induction
- 2) Chemistry: Atoms, Molecules, Compounds, Mixtures, Separation of substances, Chemical Reaction & Equations, Mole Concept, Acid, Base & Salt, Metals & Non Metals
- 3) Mathematics: Number Systems. Polynomials. Quadratic Equations, Linear Equations in one and two variables, Algebra, Co-ordinate Geometry. Geometry (Lines & Angles, Triangles, Circles, etc.) Statistics, Mensuration, Surface Area & Volume, Commercial mathematics (profit, loss, interest etc.).

Model Question papers are available in our website

Candidates are advised to visit the Brilliant Website Student Portal Notifications, SMS and check their e-mails regularly for the latest updates.

ADMISSION PROCEDURE

THE ADMISSION TO IIT /
AIIMS BATCHES IS BASED
ON A SCREENING CUM
SCHOLARSHIP TEST

DURATION :2.30 Hrs.

TEST MEDIUM: ENGLISH

OFFLINE EXAMINATION FEE

INDIA

₹ 500/- (INCLUDING GST)

₹ 250/- (INCLUDING GST)

(BRILLIANT FOUNDATION / INTEGRATED PROGRAMME STUDENTS, THOSE WHO APPEARED IN THE FIRST SCREENING TEST)

DUBAI 400/- (DIRHAM)

SCHOLARSHIPS

We announce fabulous scholarship schemes to motivate and reward meritorious students as well as to assist financially deserving.

MINIMUM SCHOLARSHIP GUARANTEED

We assure 10% discount in the course fee to every student who are included in the merit list prepared based on the screening test / promotion test.



BASED ON THE OFFLINE SCREENING TEST 29-09-2024

RANK	Nos.	SCHOLARSHIP
1	1	₹10 LAKHS (100% Fee Discount Included)
2	1	₹5 LAKHS (100% Fee Discount Included)
3	1	₹4 LAKHS (100% Fee Discount Included)
4	1	₹3 LAKHS (100% Fee Discount Included)
5	1	₹3 LAKHS (100% Fee Discount Included)
6 - 50	45	(100% Fee Discount Included)
51 - 70	20	(90% Fee Discount Included)
71 - 90	20	(80% Fee Discount Included)

RANK	Nos.	SCHOLARSHIP
91 - 110	20	(70% Fee Discount Included)
111 - 130	20	(60% Fee Discount Included)
131 - 150	20	(50% Fee Discount Included)
151 - 170	20	(40% Fee Discount Included)
171 - 190	20	(30% Fee Discount Included)
191 - 500	310	(20% Fee Discount Included)
501 - 1000	500	(15% Fee Discount Included)
1001 -merit	>1001	(10% Fee Discount Included)

* Conditions apply

IMPORTANT STEPS

STEP-1: Visit web www.brilliantpala.org and select option STUDENT PORTAL under menu REGISTRATION

STEP-2: Provide basic details Name, Mobile Number, Active email ID, Account Password & Select Class as Class X Studying, Accept Terms and Conditions and click Create Account

STEP-3: System will create a Student Account with 6 digit Student ID and will share the Student Account details to your registered email ID, mobile Number (on WhatsApp).

STEP-4: Continue login using the student ID and password created during signup.

STEP-5: Select the Screening Test and Click Apply

STEP-6: Select the City and Centre of Examination of your Choice and click Register.

STEP-7: Remit the Fee Online using UPI, Debit/Credit or Net Banking.

STEP-7: Mock Test, Screening Test Orientation Programme

STEP-8: Hall Ticket can be downloaded from our website 4 days before the exam

date

STEP-9: Screening Test

STEP-10: Admission Orientation Programme

HELPLINE \(9744229127 \ | 9495321755 \ | 9961748876 \ | 7907963974 \ | 9562634464 \ | 04822-206100 / 206800

^{*}If the same rank is secured by two or more students, the award will be shared